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(bi, b1) = (ba, by) (b1, byr)

ooooo{b,b,...,b,} 0 VOOOODDODODODODODODODODOODOO 10ODODODODOO

ggn
b, b, b,

Uy = 77 U2 = 75— -+ Up
b4 b2 1bn |
00000 {u, us, ..., u,} 0 VOOOODODODOODODO

gogbbobuogoobobbuoooobobobuooooboogao

00 55.3 00000000 vOOOOOOOOOOOOO
00 5.5.1 0000 Rz, 00000 f(z),¢(z) 00000

(f(), g(x) = / (@) de

000000000 Rz, 00000000 5530000000R[z,000 {2 =, 1}
0000000000000000O00000R}z,000000000000
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[00] 000{2% 2, 1} 0000000 fi(z)=2200000

(fl’ fl):/o ($2)2 dZU:—, ( ) fl) i
ooooon o
1 5, .
folz) =2 — (f1, fl)f1<> _Zx +
goooooon X 1
(1, fl):§, (1, fZ):E’ (fa, f2) :E
gooood
LA (L f) 10,
L P i T A B
D0O000O000O0{Ai(), fa(z), fs( )+ O R[x]gDDDDDDDDD
DDDDDDDDDDWNZ;EWﬁH:ZEJmH —DDDDDD
nlw) = ﬁfl(m) = Vba?,  galx) = ”f—12||f2<x) = —5v/32% + 3z,

g3(x) = Lfg(x) = 1022 — 122 + 3
1 £5]]

00000{g(z), g2(z), g3(x)} 000000000000 Rz, 00000000000
| |

O00D0000000 CrO00000C O00000000000000000000
Doo0o0o000

VD CUOODOODODOOOOOV 0OO0OO00000000 b000000000
(a,b) 00000
(I1) (a,b)=(b,a) 0zOOOO 0000000
(I2) (a+b, ¢) = (a, ¢)+ (b, ¢)
(13) (A, b) = A(a, b) (A€ C)
(14) () (@, @) 00000 (a, a) =00

(i) (a, @) =0 <= a=0

000000000000 (e, b)0000000O0O (,)00000 VOOO ODDO O
oobooooobooobobooboobL0 coooboobo cooobooo oo oo
ggbboboogdgobo

ooboobodub ecVOOooono

lall = /(a, a)
000000 |je|0 e 0000000000000

0555 CrO0000000000 (I1)0 (1400000
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RODODO0000O0O0O0OOOOOO000000O0COOO0O0O00000000000
0000000000001 00000000@1),(13)000

(@, \b) = Xa, b) (A€ C)

ggbbobuogoboboboogooboo
cobbobOobobobOoRrROUODUODODODODOOOO BSIODOODODO
gbobboggugooooobobbuogbobobbuoboboboboogbbooboboo
ggbbobooggbob ss3buuaubbouoan

5.6 Upooooood

gbobodbobboogoboogbboooboobobbuoobbogboboooboo
gboggboboodbbooubooboobboobbuoobooboobooboboo
ggbbobuoooobbboooobooboboood
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5.7 pbooooooog

gbbodbogobuobbooboobbooboboobbooubooboo
ggboouoodgoobon

Wy, W, 0o voooooooooboooobobobobboboboobo
WwinWw, O vioooboooooow,nWw,d Wy,w, 0oooooboon

gooo mnw,0doodbogoboooooboboo myuw,0ooog vo
000000000000000000R?00000 W,,W,0OOOOOoOOoo

WGz{C)GRQI%—yzok W@z{C)GRQ‘%+y:0}
y y

DDDDDa:<3,b:<?)GWMH%DDDDD

a—l—b: (Z) €W1UW2

goooogoooboboo wyuw,0000b0boon
gooobgoboboboobo w+w,00000

00 5.71 O0OO0O VUOOOOO WA,WeOdoooodw;+ Wy 0O
W1+W2:{331+£B2|2L'1EW1, CBQGWQ}
Ood0oooooooow,+we VOoUOodoooooono

Wy +We O Wy, Wo OO 0bg oooboo

[DD] ood yl,y2€W1+W2DDDDDyZ::I:21+:c12DDDD miler, miQGWQ
DDDDD(izl,Q)DDDDDDWbWQDDDDDDDDDDDDDDDDD

Y1+ Y2 = (11 + @21) + (12 + X)) (11 + To1 € Wi, @12 + Tag € Wh)

O00000y +ypeW,+W, 0000
0000000 yeW,+Wo, 0000 Ae ROODODOOMN EW, +W, 00000
00000

O00OW,+W,0 VOOOOOOOOO n
xr x

0571 ROODDOO W, =< |y|leR¥|y=0p, Wo={|y|eR}|2=0}0
z z

0000000 e RO

T T 0
z=|y|=10]+1|y]|, 01, |y| eWs
z z 0
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oooooow,+W,=R*0000
ggboboboooobboboooon

T 0 T 0 T
z=|y|l=10]+|vy]|, O eWy, |yl eWs
z z 0 z 0

gobogboobooooow,w,dobobobgbboboobooboobogn

goobo voooobD wi,we 0004 W =W +W,0ooooo Wy, W, O
obooboooboobooboobooowm+Ww, 00000 OO0 obOooobo
W=W, oW, 0000

00 5.72 000 W=w 1+, 0000000000000000000W;NnW, ={0}
gaon

[0O0] 000 W,+W,00000000000000000000 € W,NnW, O
Od000dxz+0=xz=04+2xz0000 WMT+WoOOUOOUOOOOOOOOOOOOOO
ooooooooo wvh+Ww,OOooooooooooooooooooooooooo
O00D0000z=000000000W, NW,={0}0000

O0oOwW, N, = {0} 0000000ax,y; € W, 000 o,y € Wo ODODODOO
T t+x =y +y 0000000x, —y1 =y2—xo € WiNWy,={0} 000000
@ =y, ¢ =y 00000000000000 W, +W,0000000000000
Odo0ooooooooooo wh+w,Oooooooooond [ |

ggbbbuoooobbbuoooobbbuoogobobodao

od s.7300000dooooooooog wy,Ww,oooooooo vooooad
ooooon

gooooobbbbbobooooogoaa
good

OO0] dm(WinWy) =r, dimW, =r+s, dimWy =r+¢t 00 {wy, wy, ..., w,} O
o000 winWw,O0oooooo

WwinW, cW, 00000000000 Jw,, we, ..., w, 0 W, 00000000000
ooood s3.100o00onoooonoow, 0 sbodood wy, we, ..., u, 100000
{wy, wo, ..., Wy, wp, s, ..., w,} 0 W, 000000000000000000000
O00W,0¢t000000 vy, vy, ..., v, 000000{w;, wy, ..., w,, vy, Vg, ..., U}
O Ww,oooooooooooooooooo
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DDDDD{wl,’UJQ,...,’UJT,’U,l,’LLg,...,’U,S,’Ul,’UQ,...,’Ut}D W1+W2DDDDDDD
gobboood

AMwy + -+ Nwy + puy F -+ pstg + 40+ -+ o =0 (B12)
00o00Oo000o0oooOoooon
AMwy + - F AW, + g o gy = —14U] — - — U0y (B13)

00000000000 (B13) 0000 w4, 000000000000 W,000000
000000000 ((BB)OODODO WinWw,0O0ODODO0O000000w;, wy, ..., w, O
goon

VU — = o = Gwy + -+ G, (B14)
godooooooogno (B14)DDDDDDDDD

Srwy + -+ Ew, + v — -+ =0 (B15)

0000 {wy, w, ..., w,, vy, vs, ..., 0} 0 W, 000D00000000000000
0000000000000 (B15)0000

v=--=1,=0
goboogooogn (BIQ)DDDDDDD
AMwy + -+ Nw, + pug -+ psug =0 (B16)

00000000 {w;, ws, ..., w, uy, us, ..., u,} 0 W, 0000000000000
0000000000000

)\1:...:)\7“:;’[’1:”':/18:0

0000000000000 (B12) 00000000 000000000000 Dwy, wy, ...
w,, Wy, U, ..., Us, V1, Vo, ..., v, OO DOOOOO0O
ooooon e W, + W, O

=y +y2, (Y1 €W,y €Ws)
0o0ooooooobooddddy,y O W, Wo OODODDODODOOOOOGQO

Y1 = Awy + - Awy g £ s
Yo = rwi + -+ vw, + 601+ + Gy

ggobobooodn

T =Y tY
=M +r)w+--+ N+ v)we F ug + -+ psur o+ -+ oy
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O00000{w,, we, ..., w,, Uy, U, ..., Us, V1, Vo, ..., 0} O Wi+ W, OODO0O0O
oo

O00000{w;, wy, ..., wy, Uy, Ug, ..., Us, V1, Vo, ..., 0 O Wy +Wo O0O0O0O
goodoo

dim(Wy +Wy) =r+s+t=(r+s)+(r+t)—-s
= dim W1 +d1m W2 — dlm(W1 N Wg)

goon
000000000000000 572000 WinW,={0}0000000O0O0OO
gogooboboogdan ]

05710 RB=W,+W,00000W,,W, 00000000000000000
00000000000 000000000000000000000 W,,W,0000
dimW, =dimW,=200000000 573000000000

= dim Wi + dim W, —dim R® = 1

Oooooooow,NnW,#£{0}0000000000000O000O0O0O 5710 R3=
wWi+W,00o0oboooooooogooon

0572 n00000000000D00DODODO Mn,m R)ODODDODDOOOOOOOOO
odoooooo w, 0000000000000 og wy,ooooooooo
Wy={AeMn,nR)|'"A= A}
Wy={Ae M(n,n;R) |"A=—A}

Ooooooogow,W,0 M(n,n; R)OOOOODO0O0OO0OOCODOOOO dimW, =

2 2 _
”;" diszanHDDDDDDDDDD n00000 A€ Mn,nR) 00O

DDB:%(A#A), C:%(A—tA)DDDDDD

A=B+C, (BeWy,, CeW,)
DDDDDDDDM(n,n;R):W1+W2DDDDDDDDDDD AeWnW, 00000
A='A=-A

O0000000A=00000W, NnW,={0}0000000000
O00000M(n,nR) =W, eW, 0000dimM(n,n;R)=n*>00000000
0000000 dim(W, & W) =dimW; +dimW, 000000000000
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5.8 OO Uyg

5.8.1 0000

0000 v,Wwooooo f:V-WwW0ODOO0OOODOO0OOO0ODO0O0OO00O000000
0000000000000 DO0OO0

(H)O00O0 z,yeVOOOOO f(x+y) = f(x) + f(y)

(2)000 eV OOODODODO AeROODDOOO f(Ax) = Af(x)
0000000000 f:V—-WOOO0DDODOOOOOOOOV=wOoO0ooooo
000 f:V—-VvV0OVvVvoooooooooo

ub s6.8.1 ODOOOOOOOODOOOOOO0ODOO
(1) o0y, 0 OOOOO V,IWOODODOODODOOOODODOOOODOODOOOoOO f:V—

wooooo
fOv)=0w, f(-z)=—f(z)(xeV)
oooooO
(2) 2000000 f:U—>V,¢g:Vo>WDODOOODO gof:U—-WOOOOOO
00O

0O (1) f(0y) = £(00,) =0f(0y) =0, 00DOODO000000 €V 00000
Ow = f(Ov) = f(z + (—=)) = f(x) + f(—=) 000000 f(—=) = —f(x) OO0
(2) 0000 gof:U - WODOOOOODODODOO0O00O0O0O0000000000
bob0OobO000 @, yeU OOOOOgo f(x+y) =g(fl®e+y) =9(f(@)+ f(y) =

g(f(@)+9(f(y) =go f(x)+gofly) DDOODODO
000000000 xeU 0000 Ae ROOOOOgo f(Ax)=Ago f(z) 00O
000000000 -

330000000000mxn0000 ADOOOODO fa:R"— R™, fa(x) = Ax
ooboooobooooopoooooDn ffRR—-R™O0O00O0f=f4000 mxn
0000 A0D00 100000000 33.1)0000oooooooooooooooo
ggbobobuoooobbooogn

0 5.8.1 0000 CYR), CY(R)0000000000000000 ¢:C*R)—
C"YR);po(f)= 000000000

0 5.8.2 0000 R[], Rlz],.s 0000000 ¢: Rla], — Rla]pe O

o(f(2)) = / i) di

gobbobooodbebnbuooooboo
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58200000000
oooo f:v—-wiobhoofoOooo wobooobo oy ODDOOD VDOOO
ggooood
Ker f={z eV | f(z) = 0w}

O fO000000000OVO fOoOooOoOooooo

Imf={f(x)eW |xeV}
0O f0000000OD0O0O0ODODO 333000000000 00ODO0ODODODOOD
good

o0 5.82 OO f:V—->WOOOOOooooo
(1) fO0 KerfO VOODOODODOOO
(2) fO0ImfO0 WOOODOOOOOO

00] (1)000 @, yeKerfOOODODO f(x) = f(y)=0y, 000000

flx+y)=f(z)+ f(y) = 0w + Oy = Oy

00000000z +yeKerfOOOO

0000000 zeKerfOOOD Ae ROODOOOf(Ax)=0, 00000000
D000M €KerfOODOD

D000O0OKerfO VOOOOOOOOO
(2) 000 f(x), fly)elmf 00000

flx)+ fly) = flx+y)

0000000z+y € VOOOOOOf(e+y) €ImfO00000000f(z)+f(y) € Im f
goon

000 fz) elmfOO000 Ae RODOOOM(z) = fOhe) Az eV)OD0O00DO0
ME)elmfOOoOO

000000 mfO0 WODOOODOODOO ]

b 3340000000000000000000D0O00DOODOAO

00 5.8.2 VOOOODOUODUOODODOOO{uy, us,...,u,} 0 VOODODODDOODOOOO
oooooooonD f:v—-wiod ImfOOOOO

Im f = (f(u1), fuz), ..., flun))
oooooo

00 vOOooOooooo 0 z=xu; +xus+---+z,u, 000000000
gogooood

f(x) = f(riug + zous + -+ - + zuy,)
=z f(uy) +zof(ug) + -+ + 2, f(wy)
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000000mfO000000000 f(w), flus), ..., flu,) 00000000000
0000ImfO flw), f(us), ..., flu,) 00000000000000 n

o000 f:R"—-R"OO0O0O0O0ODOO0O0O0DOODODOODOOO 3350000
dim Ker f + dimIm f = dim R"

gboobgobobobobboboobooboobon

00 5.8.3(0000) V,WDOOOOOOOOUOOOOOODOooOoooOooO f:V-W
gboobooooboboobooboobooobg

dim Ker f +dimIm f = dim V'

[00] dimKer f =7, dimIm f =s 00 0{uy, ug, ..., u,} 0 Ker f 000 0{w;, wy,
Lo,w,t O ImfO0000000D0O0O0OD i(1s:iss)00000w;, eImfO000
w; = f(v;) 0000 v, €V O0O0000

000000 {w, ws, ..., Uy, 01, Vo, ..., v} 0 VODOOODDOOODOODOOdimV =
r+s00000o0ogoo
0000000000000000000 {u, us, ..., Uy, 01, Ve, ..., v} 000000

)\111,1 + >\2u2 + -+ )\TUT + U1V1 + oo + -+ UV = Oy <B17)

00000 f(u)=0(1<j<r), f(0,)=0, 000000000 (B17)000000
0000000 fO00000

pa f(v1) + paf(va) + -+ + psf(vs) = O

00000000 fv) =w; (1<i<s)0000
piwy + pows + -+ - + pew, = Oy (B18)

0000w, ws, ..., w, 0000000000000000 (BI8)OO0u =pp=---=
n,=00000
000000000 (B17) 0000000

/\1’LL1 + )\2“2 + ...+ )\T’U,T = OV (Blg)

O0ooooo00w, wg, ..., w, OO0 D000000O00O00O0O0O0O0OMN=X="---=
A=00000000000
ooon
M=h==Ah=m=pp="=;=0
0000wy, ug, ..., uy, v, v, ..., v, O OOOOOOO

O000000000000000 eV OO0O0O0f(x)elmfO0 ImfO000000OO
wy, wy, ..., w, JOOO0OOO0OOOOOO

f(x) = Mwy + Aaws + - - - + A w;
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0000 f(v)=w; (1<i<s) 0000
fx) = Aif(vr) + Aaf(va) + -+ A f(vs) (B20)

000000 (B)ooooooooo

[ — Moy — Mvy — -+ = A\v,) = f(x) — (A f(v1) + Ao f(v2)
4+t A f(v))
O0000000x—M vy —Xvy—---— v, e Ker fOOO0OOOOOOO0O KerfO

00 {uj,u,...,w,} 000000000000COOOOOOOOO
T — MU — AUy — - — AU = Uy + floUs + - -+ [ Uy
gooooooooooood
T = iUy + foUs + - -+ + [pWyr + A1V + AoUo + - - - + A\ U5

00000000 wuy, Uy, ..., 4, vy, s, ..., 0,0 VOOOOOODOD
000000{uy, us, ..., u,, vy, 09, ..., 0,3 0 VOOOOOOO

dimV =r+ s =dimKer f + dimIm f

gaon ]

00 5.8.1 z0OUOODOOODOODODOC>-00000O0DOODOOO b810000000
0000 ¢: Rlz], — Rlz],

p(f(x)) = f(z)
gogooobobbbbbooooooooaoaa

(1) 0 y000000000
(2) 0 p000000O000

00] 000 f(z)=aua"+ap 12" '+ - +az+a € Rz, 00000
o(f(2)) =naz™ t+ (n — Day_12" 2 + - + 2a97 + ay

gagon
(W) 2"t 272 .. 2, 101000000000 f(zx)eKerfOOOOOOOO

na, =0, (n—1a,1=0, -, 2a5=0, a3 =0

O0O0000D000D00000D0O0D0ODOKerp OOOODDOODOOODOO Kerp =
{aeR[z], |lae R OODODOOO0O0O0O0O0O0ODO 1000000 {1} 0 KerpOODO
O000OdmKerp=10000
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(2) {z", 2", ..., 2,1} 0 R[z], 000000000 58200000 Ime O

Imp = (p(a"), ("), ..., 9(2?), ¢(2), ¢(1))
Ln—1)2"2, ..., 22, 1,0)
= (nz"t, (n—1)z" 2 ..., 2z, 1)
00000000n2™ !, (n—1)2"2 ...,2¢,1010000000000000000
00000000{nz"", (n—1)2"2,...,22,1} 00 Ime 0000000dimImp =n
goon

(H)0(2)000000000000000 ¢00000dimKerp+dimImg =n+1 =
dimR[z], 0000000000000000000000 5830000000000
ooooo n

oooD f:V->WwWoOOoOoobobooofObOOoDbOooooboobobooboDbo
oo v,wiooooooo f:V—-WwWiooboobobovowiooogoogoogoog
vewilboilodbooooboobooooboo v,wgobooooooobooo
oottt ooooooooLoLoooo
uggn

00 5.8.4 0000 f:V—-WOOOODODOODOOODOOO f':W—-VOOoOo
Ooo0Oooooo f':w—-viooooooooooo

Od] Iy: V-V, 1y W-WwWiOoOooooovioooooow ooooooooo
gboobooboobooboob

[lof=1y, fofl=1w
D0000000 fO00000O0000O0000000000 e, bew 00000

goooooooboboboo0bD eeWwWd ADeROODOODO

7 a) = T (Mw(a)) = f(Afo fH(a) = FI (M (f ()
=[O @) = (f e (A (a)

=1lv(Af(a))

=Af"(a)
0000000000000 f:W—-V00000000000000000000
00000000000000000000 f:W—-V000000000O n
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00 5.85 VO r-rOOODODOOOOOA{u,ue,...,uw,} 0 VOOOOOODOVOODO
Uidb 0000000000000 O0O0O0000

0:V—=o>R ; x=cu+cuy+ -+ cu,. — p(x) =
Cr

oooobOoboobooooor-obo0ob0b0b0 Vvooooooobh RROOOODOD

[DD] godddt bbb ooooon
T =ciu +cUus+ -+ U, Yy =diug +dous +---+du, € VOO OOO

T

ple+y) =Y cuit+ Yy du) =Y (¢ +d)u,)

= = i=1

c1 + d1 C1 d1

(&) + dg Cy dz
= . =1 .1+ .

¢ +d, Cr d,
= p(x) + »(y)

oobobobod0z=cu +cus+---+cu, €¢ VIO AXe ROOOOO

T

p(Ax) = <P(>\Zcz‘ui) = o> (Acr)u)

=1

¢y c1
_ ACo ) Co

ACy Cy
= Ap(z)

gooooboood puoooooogo
(&1

&
goobb o0bbbboooooobbbbod e= ‘2 ceRUO0OD0O0O0x =

CT‘
caui+cus+--+cu, 00000z eVIOODOOD0O0OO0Op(x)=cO00000000
Ut etoggboo

Uboodbd bbb uoobobidibl ©=cui+cus+--+cu, y =
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diuy +dous +---+du, e VOOOOOgp(x)=¢(y) D0OO0O00OOO0O0OO0O

&1 dy
(&) dsy
Cy d,

O0b000000¢a =dy,ce=dy,...,c,=d, 00 000000e=y 00000000
bbb ouobbogg
gogbooobbob oubbboogon ]

0 58300 n000000000O0OODOOD Riz], O n+100000000O
R O000D00O0

VO r000000000{v,vs,...,0,}0 VOOOOOODOWDO sO000000
000 {w,w,,..., w,} 0 WOOOOODOOOOOO f:Vo>WOOO vy,vs,...,0,
00 f(v1), f(va),..., f(v,) 0 WDOOO {wy,ws,...,w,} 0000000000000
000000000oooon

)
f(v1) = anwy + anws + - - - + as w;

f(’Uz) = Q12W] + AWy + -+ + AsoWy

| f(vr) = apywr + azywa + - + agws

O00000000000000000000000000000000000 f(vy,)) OO
0 {w,w,y,...,w,} 00000000 jO00000000000000 sxrOOOd

@11 Q2 -+ Ay
Q21 Qg2 -+ Qo
g1 Qg2 - Qgy

0vOoOoOo {v,vs,...,0,} 0 WOOO {w,w,,...,w,}) 0000 f000000
oon

r000000 VOODOOOO f:V—-VO0O00OvVOoOoooOo {v,vs,...,v}
00000{v,vs,...,v,} 0 {vi,vs,...,0,} 0000 fO00000000COV OO0
{vi,v5,...,0,} 00000000 f0000000O0

00 5.8.2 Rz, 0000 ¢: Rfz], — R[z], O
p(f(z)) = f'(@)r + f0)(z* + = +1) (f(z) € Rlz]s)

oooooo
() p00000000000000

(2) R[z], 000 {#%2,1} 0000 0000000000

(3) Rz, 000 {#%2%+z,4>+2+1} 0000 0000000000
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[00] (1) 000 f(z) € Rz, 00000 f(z)z + f(0)(z®+2+1) 000000
0000000000 ¢(f(z)) € Re], 0000000 f(x),g(x) € Rzl 00000
o(£(2) + 9(x) = (' + @)@z + (F(0) + g(0)(&2 + 7+ 1) = (f'(x) + F(0)(a + 23 1)) +
(¢ @)z + g(0) (@2 + 2;1)) = p(f(z)) + ¢(¢g(z)) 0000 0000000000 000D
iddde bbb bobbbbbbdtblbed
R[z, 0000000000

(2) 00 {2%,2,1} 0000 ¢(2?),9(x),e(1) 00000000

p(a?) =222 @)=z, ¢1)=2"+z+1

goooon

2 01
(p(x?), 0(2), (1) = (2%, 2,1) [0 1 1

0 01
2 01

00000000 {«%2,1} 0000 000000 [0 1 10000
0 01

(3) 00 {232+ 2,22 +2+1} 0000 ¢(2?),0(z? +2),p(x*+2x+1) 00000

goo
p(a?) =227 g’ +a) =2+ (2 +a), el +ar+l) ="+ (@ +a)+(@* +r+1)
goooon

2 1
(o(2%), p(a* + x),p(a® + x+ 1)) = (2%, 2 + 2,2* + 2 +1) | 0 1
0 0

2 1
00000000 {2%2* 42,22 +2+1} 0000 000000 |0 1 oooag
00

000000000000000000000000000000000000000
0D000000000000000000000000000000000000000
0000000000000

r000000 VOOOOO0O0 {v,v,...,v,}0 {v},v,,...,0.} 000000000
0 v, 0 {v,v,...,0,} 0000000000000000000000000000

(v}, 05, ..., v.) = (v1,v,...,0,)P
D00000000v, =) pyo (j=1,2,...,r) 0000000 PO py O (i, j)-0

=1
0000000000-00000 POOO {v,v,,...,0,} 0000 {v},0,..., 0.} 0

gbooboobobbbuooboobobbobbobooboobo

29



00 5.8.6 r0000 PO VOOO {vy,vy,...,v, 0000 {v},v),...,v.} 000

gobboboooobbboooobobbooon

(1) POODOOOOOO

2) 00 {v},v),...,v'} 0000 {v1,vs,...,v,} 0000000000 POOOO
pPtoooO0

00] 00 {v},v,,...,v.} 0000 {v,vs,...,v,} 0000000000 QOOOO
0000000 {v),v),...,v.} 000 {v,vs,...,0,} 000000000000000
0000000000
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